
a. There is a mistake in the way this 
     math problem was solved.

Explain the error. _____________________________________________________________

______________________________________________________________________________

______________________________________________________________________________
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Find the Mistakes
Name:

Solve the math problem correctly.

b. There is a mistake in the way this 
     math problem was solved.

Explain the error. _____________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

Solve the math problem correctly.

48,843
– 11,832_________
36,0 1 1

187

94,227
– 81,189_________

13,138

171 1



94,227
– 81,189_________

13,038

a. There is a mistake in the way this 
     math problem was solved.

Explain the error. _____________________________________________________________

______________________________________________________________________________

______________________________________________________________________________
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Find the Mistakes
Solve the math problem correctly.

b. There is a mistake in the way this 
     math problem was solved.

Explain the error. _____________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

Solve the math problem correctly.

48,843
– 11,832_________

37,011

ANSWER

      The person who solved this problem made a mistake when they 

borrowed from the thousands column. In the hundreds column, 8 minus 8 equals 0, 

so you do not need to borrow or regroup.

      The person who solved this problem made a mistake when they 

were subtracting in the hundreds column. It should have been 1 minus 1, not 2 minus 1. 

The answer should have a 0 in the hundreds place.

48,843
– 11,832_________
36,0 1 1

187

94,227
– 81,189_________

13,138

171 1 171 11
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